PREY S
PAST EXAMNATON QUESTIONS @ TR | DENTITIEY + EQNS

{. Find the Cartesian equation of the curve which is deﬁned parametrically byx = 2 sin 6,

.

\O-

.

y = cos® 0. (N81/P1/16bi) .

(2) Prove the identity tan 4 + cot A= 2 cosec 24. S

_(b) Iti is given that tan B = 4 ; and that B is acute. _Without usmg tables or a calculator, find
the value of (1) cos 2B (u) tan . (J82/P2/ 14) _

(a) Prove that identity ; ta“zeze =tan 9.

(b) A is a obtuse angle such that sin 4 = <. Without using tables or a calculator find the

value of tan 24 and hence show that A is approxunately 157 1* (N 82/P1/14)
X and y are acute angle such that sin (x y) 4 and sinx cos y = Wlthout using tables or

a calculator find (i) sm (x+), (11) “‘” From your answers to (i) and (11) deduce the value of
tanx. (N82/P2/14b)

(a) Prove the identity'sin (a0 —30°) + cos (. +30°%) = ﬁﬁ_ L sin (o + 45°). .

(b) Express tan 26 in terms of tan 6 and hence find, without using tables or a calculator, the
value of tan 673 in surd form. (J83/P1/14) '

Given that sin x = b and 0° <x < 90° ﬁnd an expressmn in terms of b for (1) tan x,
(ii) cos (=x). (J83/P2/7b)- - -

Given that tan x = p aud that x is acute, find an expresswn for sin x in terms of p
(N83/P2/8b) . R ; - :

. (a) Prove the identity tar 24 (2 cos 4 - sec A) 2 sin' 4.

(b) o and B are acute angles such that sin o = 4 5 and tan B = 5;. Without using tables or a
calculator find he value of sin (@ + ﬁ) leen that o + [3 6 — I find the value of cos 0.
(N83/P2/14Y : :

(a)l Given that tan 60° = ﬁ , show, without using tables or a calcul'ater, that

“(b)* Given that smA = ——, cosB=% =7and that 4 and B are in the same quadrant find, with-

out usmg tables or a calculator, the value of sin (24 + B). (J84/P1/14)

' Find the cartesian equanon of the clrve which is defined parametrically byx =2 +sin 8,

y =6 cos 0. (J84/P2/16aii)

(a) leen that sin (% + &) + cos (x ~ o) ='cos x where o is the acute angle such that
tan o= 2, find the value of tan x.

','(b) Find the value of ) p and of g for which 4 cosA4 ~ sin? 4 = = (cos 4 + p)* + g. Hence, or oth-

erwise, - ‘find the maximum value and the minimum value of 4 cos 4 — sin®* 4.

Prove the identity sin 20 — tan 0 cos 20 = tan 0. Hence show. that tan 67{ = ,/5 + 1.
(N84/P2/14b) ‘

Find the cartesian equation of the curve which is defined parametncally byx = sin 29
y= cos® 0. (Sp2/6bii) : ,
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